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Rational Expressions Homework -- Dividing Polynomials

Summary
Algebraic division of polynomials.




 Exercise 1.

       
          
            
         

      


   


 Exercise 2.

       
          
            
         

        


  


 Exercise 3.

       
          	
               a. 
               
            
	
               b. Test your answer by choosing a number for 
                  y
                and seeing if you get the same answer.
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 Exercise 6.

       
         
            
         

      

   


 Exercise 7.

       
          	
               a. 
               
            
	
               b. Test your answer by multiplying back.


      

   


 Exercise 8.

       
         After dividing two polynomials, I get the answer . What two polynomials did I divide?
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